Out In A) 0 A) 2 B) 0 B) 0

Washington County Corrections Facility
The Inmates Held In The Washington County Corrections Facility On This 19th Day Of August, 2025

Inmates by Facility: WCSO: 41 D&E: 2 Other: 0 **TOTAL: 43**

	-	inmates by Facility: WCSO: 41 De	ch. a Oth	er: U 101	AL: 43		
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
	Brennan, Tyler S.	Felon in Possession of Firearm, Failure to	08-12-25	WCSO			
1	WCSO	Disclose Firearm	1435		03-12-93		\$150,000.00 10% \$15,000.00
2	Hiatt III, Robert O. WCSO	DUI 4 th , DUR	07-14-25 0242	WCSO	03-26-77		\$60,000.00 10% \$6,000.00
3	Albers, Anthony J. WCSO	Disturbing the Peace, 3 rd Degree Assault x5, Threat by Intimidating Phone Call x5, Stalking	05-27-25 1351	WCSO	06-30-75		\$45,000.00 10% \$4,500.00
4	Stephens, Dalton J. WCSO / Dodge Co Sentenced	3 rd Degree Domestic Assault, Dodge Co- 3 rd Degree Domestic Assault	07-26-25 1501	WCSO	09-14-95		\$30,000.00 10% \$3,000.00 Dodge Co Release Date 11-11-25
5	Collins, William P. WCSO	Warrant- Burglary, 1 st Degree Assault, Theft by Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use of A Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO	07-25-93		NO BOND
6	Williams, Kierre L. WCSO	1 st Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	WCSO	08-02-80		NO BOND
7	Boettcher, David W. WCSO	Warrant- Poss. Deadly Weapon by Prohibited Person, Poss. Controlled Substance, Use of Deadly Weapon to Commit a Felony, 1st Degree Criminal Attempt of Assault, 2nd Degree Criminal Attempt of Assault, Poss. Deadly Weapon, Child Abuse	01-15-25 1228	WCSO	01-28-76		NO BOND
8	Gutierrez, Sergio WCSO / Sentenced	Warrant- Poss. Controlled Substance, DUI 1 st	05-03-25 0415	WCSO	04-17-80		Release Date 08-21-25 @ 1700
9	Rettinger, Jaren T. WCSO/ Sentenced	DUI 1 st , Flight To Avoid, Willful Reckless Driving	07-29-25 1012	WCSO	11-27-01		Release Date 08-29-25 @ 0800
10	Houghtelling, Adam N. WCSO / Sentenced	Probation Violation	05-28-25 1952	WCSO	12-05-82		Release Date 09-04-25 @ 0800
11	Ferrell, Kaelah M. WCSO / Sentenced	DUI 2 nd	07-16-25 1028	WCSO	12-31-88		Release Date 09-05-25 @ 0800
12	Peterson, Nathan C. WCSO / Sentenced	Poss. Controlled Substance	07-22-25 0918	WCSO	03-03-81		Release Date 09-19-25 @ 0800

Signed:	cc: Ca	aptain'	s Secretar	y, (Count	v Court	, and	District	Court

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
13	Chenier, Cory J. WCSO / Sentenced	Poss. Controlled Substance	06-10-25 0936	WCSO	04-20-91		Release Date 10-03-25 @ 0800
14	Shepard, Tylor C. Burt Co	Burt Co- Criminal Mischief x3, Criminal Trespassing, Theft by Unlawful Taking, Unauth. Use of Propelled Vehicle.	07-07-25 1519	WCSO	08-20-95		\$50,000.00 10% \$5,000.00
15	Tranmer, Jamey L. Burt Co	Domestic Assault 2 nd Degree, Child Abuse, Obstructing a Peace Officer, Resisting Arrest Burt Co. Warrant- FTA	08-16-25 1905	WCSO	02-24-81		\$50,000.00 10% \$5,000.00
16	Harris, Sarah L. Dodge Co.	Dodge Co- Theft By Deception	08-07-25 0941	WCSO	09-21-89		\$300,000.00 10% \$30,000.00
17	Bailey, Kalsey L. Dodge Co	Dodge Co- Poss. of Controlled Substance, Theft by Unlawful Taking, No OPS	07-22-25 0854	WCSO	11-07-97		\$50,000.00 10% \$5,000.00
18	Record, Garielle L. Dodge Co	Dodge Co- Poss. Financial Transaction Device, Unauthorised Use of Financial Transaction Device	05-29-25 1529	WCSO	03-20-02		\$25,000.00 10% \$2,500.00
19	Lemus, Brittany A. Dodge Co	Dodge Co- Conspiracy to Deliver	07-25-25 1448	WCSO	07-16-91		\$25,000.00 10% \$2,500.00
20	Garcia, Leticia M. Dodge Co	Dodge Co Warrant- FTA x2	06-08-25 1229	WCSO	08-09-95		Warrant- \$10,000.00 10% \$1,000.00 Warrant- \$9,000.00 10% \$900.00
21	Kucera, Shirley E. Dodge Co	Dodge Co- 2 nd Degree Trespassing, Stalking	07-22-25 1748	WCSO	07-14-58		\$5,000.00 10% \$500.00
22	Levin, Kelsey J. Dodge Co/Polk Co FL. Hold	Dodge Co- Flight to Avoid, Polk Co Warrant- Probation Violation x3	08-10-25 1033	WCSO	05-22-96		Dodge Co- \$10,000.00 10% \$1,000.00 Florida- NO BOND
23	Green, Lynn M Dodge Co	Dodge Co- False Reporting, Resisting Arrest Dodge Co Warrant- FTA x2	08-16-25 0855	WCSO	12-20-88		\$5,000.00 10% \$500.00 Warrant- NO BOND
24	Stolley, Tabitha L. Dodge Co	Dodge Co - Probation Violation	08-13-25 1433	WCSO	11-28-02		NO BOND

Signed:_ ____cc: Captain's Secretary, County Court, and District Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
25	Siemsen, Maria K. Lancaster Co	Lancaster Co- Poss. Controlled Substance, Poss. w/ Intent to Deliver, Evading Drug Tax	07-15-25 1045	WCSO	03-02-84		\$750,000.00 10% \$75,000.00
26	Cisneros, Alena F. Lancaster Co.	Lancaster Co- Possession with Intent to Deliver	08-05-25 1039	WCSO	10-27-97		\$500,000.00 10% 50,000.00
27	Rodgers, Malorie J. Lancaster Co	Lancaster Co- Accessory to a Class 1 Felony	08-01-25 1141	WCSO	03-08-89		\$250,000.00 10% \$25,000.00
28	Cook, Kyla J. Lancaster Co	Lancaster Co- Protection Order Violation x2, 3 rd Degree Domestic Assault	07-15-25 1122	WCSO	07-29-92		\$70,000.00 10% \$7,000.00 \$35,000.00 10% \$3,500.00
29	Decker, Aiyana J. Lancaster Co/Seward Co Hold	Lancaster Co- Poss. Controlled Substance x2	05-13-25 1017	WCSO	06-18-03		\$15,000.00 10% \$1,500.00 Seward Co- NO BOND
30	Kucera, Molly J. Lancaster Co	Lancaster Co- Possession of a Controlled Substance, Failure to Appear x2	08-01-25 1212	WCSO	06-14-99		\$10,000.00 10% \$1,000.00 \$2,500.00 10% \$250.00
31	Vculek, Aubree N. Lancaster Co / Sentenced	Lancaster Co- Attempt Poss w/ Intent to Deliver	04-25-25 1039	WCSO	12-19-99		Release Date 09-05-25 @ 0800
32	Milton, Patricia K. Lancaster Co	Lancaster Co- Theft by Shoplifting \$0-\$500	07-15-25 1043	WCSO	12-27-61		Release Date 09-11-25 @ 0800
33	Stoner, Brionna P. Lancaster Co / Sentenced	Lancaster Co- Attempt Poss. Controlled Substance, Domestic Assault 3 rd Degree, Assault 3 rd Degree, Violation of Protection Order	12-03-24 1253	WCSO	02-02-98		Release Date 09-15-25 @ 0800
34	Leydig, Megan N. Lancaster Co/ Sentenced	Lancaster Co- Driving Under the Influence	08-05-25 1059	WCSO	05-03-97		Release Date 09-30-25 @ 0800
35	Ice, Misty A. Lancaster Co / Sentenced	Lancaster Co-Violation of Home Detention	03-28-25 1129	WCSO	05-22-79		Release Date 10-12-25 @ 0800
36	Pilcher, Erica D. Lancaster Co / Sentenced	Lancaster Co- DUI w/ Serious Bodily Injury	06-03-25 1141	WCSO	11-11-97		Release Date 10-19-25 @ 0800

Signed:	_cc: Captain's Secretary	, County (Court, and Dis	trict Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
37	Williams, Joslin L. Lancaster Co/ Sentenced	Lancaster Co- Probation Violation	08-01-25 1042	WCSO	10-17-00		Release Date 11-02-25 @ 0800
38	Kinnett, Aubrey A. Lancaster Co / Sentenced	Lancaster Co Warrant- Shoplifting x3, FTA, Theft by Unlawful Taking	05-23-25 1015	WCSO	05-25-86		Release Date 02-03-27 @ 0800
39	Hudson, Austin C. OPD	OPD – FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.000 10% \$35,000.00
40	Bogart, Jade J. Saunders Co / Sentenced	Saunders Co- DUI 3 rd	07-03-25 2025	WCSO	12-29-97		Release Date 09-26-25 @ 0800
41	Kocian, Tyler J. Stanton Co	Stanton Co- Flight to Avoid, Assault on Officer, Willful Reckless Driving, Terroristic Threats, Misc Flight NSP	02-10-25 0605	WCSO	08-29-96		\$100,000.00 10% \$10,000.00
42	Juergensen, Jacob K. WCSO	Warrant- Flight to Avoid, Habitual Offender	05-28-25 1552	D&E	02-16-93		\$75,000.00 10% \$7,500.00
43	Nisley, Jeffrey S. WCSO	Poss. Controlled Susbtance, Poss. Deadly Weapon by Prohibited Person, Poss. Deadly Weapon Committing Felony, DUS, No Valid Registration	06-11-25 0329	D&E	07-02-70		\$70,000.00 10% \$7,000.00
44							
45							
46							
47							
48							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date

Signed:	cc: Ca	aptain'	s Secretar	y, (Count	v Court	, and	District	Court

49				
50				
51				
52				
53				
54				
55				
56				
57				
58				
59				
60				

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
--	------	---------	------------------	-------------------------------------	-----	--------	--------------------------

Signed:	cc: Ca	ptain's Secretary	, Count	y Court.	and Di	istrict (Court.

61							
62							
63							
64							
65							
66							
67							
68							
69							
70							
71							
72							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	٠t.

73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							

Signed:	cc:	Car	otain'	's Secre	etary,	Count	v Court	, and	District	Court.

86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							

Signed:	cc: Captain's Secretary, County Court, and District Court.

98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc: Captain's Secretary, County Court, and District Court.

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.